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e Please check that this question paper contains 15 printed pages.
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e Please check that this question paper contains 25 questions.
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the answer-book during this period.
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General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(11)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions.may be given in one word or a sentence.

(111) Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(tv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vt) Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vit) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qus A
SECTION A

1. & <hl IRYTST 0 YishaT ohT 37 ST | 1

Give the meaning of ‘Process’ in the definition of mangement.

2.  Oohrichl IcAM TSH @l Teh ThR hl Yol SATETIhdl bl JHTOA HLdl & |
ST YA o GeH T JHTiad Ysit o bR hl UgATHT | 1

“Technological Upgradation” affects one of the types of -capital
requirement of an organisation. Identify the type of capital atfected with

reference to the above statement.

3. 3=l Yg AR 2 | 98 Teh AMhYT Wi @l 6l gohlH H g 3R Uk
g% ATehIERl ToRMT sl 711 bl | ©ifehd @H o §0Y 38 9dl =l T 380 $
OraTEl | ot | 9 a1 fomeE @ 3R A 1 3cUTg Uohel W ol § qaT =l b
3cUTe B AR qrft off | 39 U9kl 3R 1 AW FarsC [Heh 3T=avid
SYYIHT TE&0T SATUMIH, 1986 @ AUl o TER AT ATE 1 gET T
Hehdl B | 1

Archana 1s a pure vegetarian. She went to a popular food chain shop and
asked for a packaged ‘Veg-Biryani’. While eating the same she noticed
that 1t had some non-vegetarian content. Neither the advertisement, nor
the label on the package showed that the product had non-vegetarian
content. Name the consumer right under which Archana can claim for

compensation as per the provisions of Consumer Protection Act, 1986.

4. Yo=Y o TUgdl U9 ‘Ja¥ hl depleh] H 3TdHe shilau | 1
3TaT

Y A UF TId ALY H IT=dHe hIfT | 1
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Distinguish between ‘Principles of Management’ and ‘Techniques of
Management’'.

OR

Distinguish between “Time study’ and ‘Motion study’.

5. 39 gequr shi foiy w1 A0 SaRy Sed Uity te $ve (W) FR¥ihdl
HHIGSH § W hidl g | 1

HAAT

UYUT <hl 3G YT & YhR 1 ATH ddIsU ST 99l <hl el IYar = |
TehiteT d Teehifem <t Ufsham § 3T Il GHEIISAT 3 Bhidel ol HeiHd hidl
2 | 1

Name the method of training in which the trainee works under the

guidance of a master worker.

OR

Name the type of barrier of communication which refers to problems and
obstructions in- the process of encoding and decoding of message into

words or impressions.

6.  UchioM <kl &1 TTHY & ? 1
AT
Taqu [’ o Uk ek ok ®UH IATE T =T 37 7 2 1

What 1s meant by ‘Packaging’ ?

OR

(ive the meaning of ‘Product’ as an element of ‘Marketing Mix'.
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7. U9 3R @ fo/ s hiehid o STevT-3Tei a9 § 1| hid 2 | Ueh feq eluet

% 9IS & 999 &1 9 U9 9 ka1 b °Sl & SR s HHATNIT shl T34 9
Bl B arefl B |

TS q1 T o Hed g HUN o YehR hl A SATsq | I

Raj and Riya are working in different departments of Leo Infocom. One
day at lunch time Riya told Raj that due to recession many people are
ogolng to be retrenched soon from the organisation.

Name the type of communication that took place between Raj and Riya.

8. TS 3l IHeE HieX Hrsfehcd skl THHIU i H HetH off | 35T dreehlei= 3%
gt o foshar & Ifg e TR T sheat T o1 | 3596 fow 5o afaanfit 6
qed Hfifd 1 foveiwor foram | 38k 38 Igvg i Wit o oY 38 T Hi
arsfehet 1 @i W T 3,000 hl §2 qAT Y&d SHT T&dd - bl THUg o |

39 TTEh 3AThNd U IR Toshd o gig 53 |
TSt 2A7er ffude e/ ST9ATE U JISHT o6 YR ki Yg=-u | 1

Raj Auto Ltd. was engaged in manufacturing motor cycles. Its long term
objective was to capture the market by increasing sales every year. For

this i1t analysed the pricing policy of the competitors. To achive this
objective it decided to offer a discount of T 3,000 and free insurance on

purchase of every motor cycle. This attracted the customers and the sales
increased.

Identify the type of plan being followed by Raj Auto Ltd.

Qug o
SECTION B

9. HIh, Sl Teh hU-l ol HeIeh 8, 4 394 Ueh 9% hI@MH <hl b TTHUT <hl
YA hleh WA Rgaie g4 hl AT o418 | 389 Hur fo=n o a8 fafamio
gehTs UTHIUT &1 | TATYG <hl STt dfeh TTHIOT &1 | @ dTd AN bl Jiehdl b
AT TS Foh | 39k ToTU 394 TS, hid, Al AR ides k1 shwer: Teishl,
T, Y Ud YOR TI9T & @i o ®9 H =994 (a1 | o fCeam o, oifehd
JigHM AR TSSmeHT 4 W@HHS o |

fafirs f9umT o 9@l &1 =99 S o I HAsh gRIT THghenur Tisham | foiu
S a1 3T 19 TOT T 3gE it | 3

Bl ki e R T BRI =ik e w THIEE =Rl A=ibis R =T R
=
Xy -
.; '._
- =
5 "
= '
bl bsird Tp R TR Bl bS5 E e Al i R =T R
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Mayank, the director of a company, 1s planning to manufacture stuffed
toys for utilising waste material of one of his garments factories. He
decided that this manufacturing unit will be set up in a rural area, so
that people living in rural areas can have job opportunities. For this he
selected Arbaaz, Kriti, Lata and Ritik as heads of Sales, Accounts,
Purchase and Production departments respectively. They were differently

abled but intelligent and creative persons in designing.

State the next three steps Mayank has to follow in the statfing process

after selecting heads of different departments.

10. SPR YTl I SR H Yidyfadl Sl hIHdl I =@ I HGdT 8 | IR
Taehieh, I i hmdl § fed-ufafed & Ian-=gra @i quiiar @ 3T Sfayfasi &
ISR SHdgR. % HTYeUS o &9 | (M1 S7aT 3 |

3YYh ShYH °h YShIRT H L STHN <k Tohral ol 1Al hl 3@ hITaIT | 3
Jrera

gfagfd §TaR o Taey R A fam & fofu wa fowmpl & @@ =g
aRef gfaefa v fafr i 6 T 6 8

SYYTH YA o JhIN H WA Jiayfd ug foafaa sig o foheal 4 A B
$T 3IgE hIT | 3

Stock 1ndex measures the movement of prices of securities at a stock
exchange. Stock index reflects the day-to-day fluctuations in stock prices
and are known as barometers of market behaviour of securities.

In the light of this statement, state any three functions of stock exchange.
OR

To promote orderly and healthy growth of securities market and
protection of investors, Securities and Exchange Board of India was set

up.

In the light of the given statement, state any three regulatory functions

of the Securities and Exchange Board of India.
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11. T3S A1 foheal o9 e o1 3g@ it | 3
HAAT
TS o Hatd o foheal diF f9=g3Tl 1 3@ hINT | 3
State any three limitations of Planning.
OR

State any three points of importance of Organising.

12. 37T o UIhi o €9 T AMTRR, I a7 ITIAT bl THIAET | 3

Explain ‘Authority’ ‘Responsibility’ and ‘Accountability’ as elements of
delegation.

13. EAFRNT AR IHES YA H 79+ T3 H ST bl 3cq1ed L Gl 8 | I§ 34
SEATA hl Sl g3 HIT K1 ATH 331 Wl 2 Flih o hl AT TdehE T 8%
T B | ¢! g3 "I I BRIG I3 o U 364 T AU GIA I AME H
ST SHE | F@IFHE I AT TR AU HIF I M ok T o
T 4,000 HUS T FAT JA] o AT ATHT T 600 HUS hi TTEAIIHdT B |
3UYTh hIY ohl Uehid hid oh [T Tohd HIl b1 ITANT ThAT AT qUT TIi¥= Gl
o Tohd OE1-H Tehlog TehaT ST IE To=Rul o1 | 3

(%) 3I9Yth Alvld [SERUNT FAAYROM i UgATHT T 3GhT 37Y GIT |

(@) TUH fehral-gl RN sl THATST S hH! bl I9Yh () B UgaHl T3
IO <hl YHTIId hid 8 |

Sunflag Iron Ltd. is manufacturing steel at its plant in India. It is
enjoying increased demand for its steel as economic growth of the country
1s about 8%. It 1s planning to set up a new plant to avail the benefits of
increased demand. It 1s estimated that 1t will require about ¥ 4,000 crore
for setting up of plant and about ¥ 600 crore for other expenses to start
the new plant.

To collect the above mentioned funds, the sources to be used and the
quantity to be collected from different sources had to be considered.

(a)  ldentify the above discussed concept and give its meaning.

(b) Explain any two factors that affect the concept i1dentified 1in
(a) above.
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Qus ¥q
SECTION C

14. ‘Wi IWR T fgdias a6 # foheal =R fagatl & SMER W 3A=iHg
hITTT | -

e
SIS 91 Hgl ST | fohegl AR fomg3Tl o ATUN 9T =g hIT | 4

Differentiate between ‘Primary Market’ and ‘Secondary Market’ on the
basis of any four points.

OR

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of any four points.

15. ‘Teaud ¢H fafee’ ueh dad USHl g, S HHINH o YR U g5 Ik I
LAl 3 | §ATg 3 o NV HI13e ¥ UTgehl bl Tdehe Taditd i H Toadd ¢H

a3 fod g U9 Th "re § 3He AUR § bl wH IS B it
H(UeRal SUHRDI I Jacd Todl a1 ¢H We daed’ &l AR = Y 7, Sl
1Y HUE H $eE g foehe g <ol 2 | 4
() ‘TeEud eH faiee’ gRr SATaEiieh Uyl o T T ki ACE hl
17818 39! A 9T a7 39 THETST |
(@) 3I9YH (&) H 989 7T AW o ldih AGHID GG o {hd]
I A I GHSATST |

‘Express Tours Ltd.” 1s a travel agency which books air tickets on
commission basis. It takes two days for Express Tours to get the tickets
from airport reservation counter and deliver the same to customers.
During the last one year, there has been drastic decrease 1n 1ts business
as most of the customers have shifted to another travel agency, ‘Shiva
Tours and Travels’, which provides tickets within half-an-hour through
internet.

(a) Name and explain the dimension of business environment that is
being overlooked by ‘Express Tours Ltd. .

(b)  Explain another dimension of business environment other than

that 1dentified in (a) above.
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16. 3TEd 4 ol HIE UTgee fdIHee | T 3,000 H Wk Be THMT HIfH
@licl | 38 g fob wefA ek e AEl KL Wl oM | hg TrREd hE WOl
Il AL ITgae Tl GRT SIY 3ieh gl fehdT T4 | 4
() 3H IYYIRKI 3T(UHR I FgaH hital ST Iga- Sioled T IT3ae
ftHes g fohan T |
(@) 39 3UYh BIRH 1 FAE ST &l AT T [hRd ol U Fohdl
2 |

() dIfg 98 3IUYh BRE b A H HE &l g, dl 1 98 9™ B I
IS L Fohell & ? 314 I o THYT H HRIT GIT |

Anchal purchased a food processing machine for ¥ 3,000 from ‘Kajal

Machinery Pvt. Ltd.” She found that the machine was not working

properly. Despite many complaints, the defect was not rectified by Kajal
Machinery Pvt. Ltd.

(a) Identify the consumer right that has been violated by Kajal
Machinery Pvt. Ltd.

(b)  Suggest the appropriate forum where Anchal can file her
complaint.

(c) Can she appeal to the Supreme Court if she 1s not satisfied with
the order of the appropriate forum ? Give reason in support of your
answer.

17. U SIR-Tasha § HH AT9RN W 3F=qYS hiIT : 4
() TfshAT T YN S AT Y

(@) AfUhaq Tashd & &9 ST UTgsh Fdiee
() HEW H AW
(&)  TOEId A
AT
fI9uE i IUEH AU qAT 39 EURON H i YR W T=Hg
va : 4
() 39
(@) T FoAag
()  Ered
(&) gHIta
66/1/3 9 P.T.O.
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Differentiate between ‘Marketing” and ‘Selling’” on the following basis :
(a)  Part of the process vs. wider term

(b)  Profit through maximising sales vs customer satisfaction

(c) Difference in the emphasis

(d)  Difference in the strategies

OR
Differentiate between ‘Production concept’” and ‘Product concept’ of

marketing on the basis of :
(a) Meaning

(b)  Main focus

(c) Means

(d) Ends

18. THI hifehed TS TS o Ja=d Hcweh 4 @t faurfia gs=uehi <& 1Y
9% hl | a9 @k 4 gl b IAHM R bl HAAYAD Hi b ATdITh
e WIS § 3R 37feeh el =1 aig o § 9e1 9991 8 Fifch hFaHl
379t foem™ 3IcTe Uit 0 U 3R Ic4IE e+ I @ & | 39 3299 hl JIitd
foTe 38+ 9t f9uria Jg@ 9 gorra mad fhu | gy THewes 3 9 gl
o IMYR 9T Teh ST dIR <hl | Gt fAumia gaget 3 IeET &1 9ra foma | 4

(%) TUYth IFTTOC H HGIHA Adcd hl Al shl UgAM hITT qAT EhT Y
QT |

(@) Hqcd sl 314 &I ATl sl GHSATIT |

The Managing Director of ‘Verma Chemicals Pvt. Ltd.” held a meeting of
all the departmental managers. In the meeting, the managing director
said that besides doing their current work efficiently, they also had to
make themselves capable of shouldering more responsibility in future as
the company 1s going to add an additional product to its existing product
line. For the realisation of this objective he invited suggestions from all
departmental heads. The Managing Director proposed a plan on the basis
of the suggestions received. All the departmental heads carried out the
plan.

(a) Identify and give the meaning of the style of leadership referred in

the above para.
Qcollegedunla;
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19. “Argenl AfIMieTsed fafes’ R futar st & fau 2t udg & fmior 4
M B | I8 Uk oI UG Tl BT 3 | A9 Ig TIF I 9 § e e
AU IGHE ol (ISR HET ARl & | 9k (07U W diHenlicieh fad bl
ATATIHRAT & | BT o Tad Ja-deh, 379, 4 HHAl o &I HRABR (THR]
! THAT 3TN o FEA GRI SIY S hl TATE &1 | $Heh 0T AcATTeeh Wi
AN sl TTEvThal ? | fiaT amra o 2R Sl qU i o fofw ot 3 g
SITSIR T TR To7 T | 4

(%) HgI S9N 39 Y9 okl A e 8 rgt (119 @rTd 6l qU i
o ToTT 3TN T Tehell 7 |

(@) YT 99K Td Ut SR 8 foregl e e w3t $hifs |

‘MICO Automobiles Ltd.” 1s engaged in manufacturing of auto parts for
car manufacturing companies. The company enjoys good
creditworthiness. It now wants to expand its business by investing in new
plant and machinery. For this it requires long terms finance. Arsh, the
Finance Manager of the company advised the CEO of the company to
raise funds by 1ssuing equity shares. 1t requires huge floatation cost. To
meet the expenses of floatation cost the company decided to tap the
money market.

(a) - Name the money market instrument the company can use for
meeting the floatation cost.

(b)  Differentiate between ‘money market’ and ‘capital market’ on any
three basis.

Qus q
SECTION D
20. TfaRgd feafaa # fayurerdl gro S &l IH aTed! fasea gae depdienl
! UgEH hid §Y 3kl 3@ hIT | Ix5=5

(%) T 20,000 I T T 5,000 h1 I AT Johdl |

(@) T "I ATsfha o T T T 1,60,000 T PIAH, T 40,000 qed al
Y TRT T YIAH T 6,000 Tk hl 20 THH fohedl | |

(1) &M % |regA < ffern ° 30 um fafer @ |
() Tk Oral HiGEd B % J1Y 4 GB #ART e U |
(§) 3fUsIT I HIARIH o Ui 991 4 T 2,500 h U2IA b hd G I I
Tehl g HU |
66/1/3 1 P.T.O.
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E B
Identily and state the techniques of sales promotion used by the

marketer in the following cases :

(a) A free holiday package of ¥ 5,000 on purchase of goods worth
< 20,000.

(b) Payment of ¥ 1,60,000 for the purchase of a bike can be made,
T 40,000 immediately and balance in 20 equal instalments of

< 6000 each.

(c) 30 grams extra soap in a cake of bathing soap.

(d)  Get 4 GB memory card free with a ‘Popo’ mobile phone.

(e)  Lucky draw coupon for a car on purchase of petrol ¥ 2,500 from

Indian O1l Corporation petrol pumps.

21.  ‘qftenl feifHids’ o Yedsh ShHARI sl USITR <l I[dl o HATER Yfdfcd 10 TSIl I
90T ST 91 | H© FHANIT bl Dlehl ToaH 4 — 6 TSl 1 HHI0T idied
fopaT, | U= 4 HIUd A&T bl I ThAT | HHATRIT o hIAhA] hl
T o 0 gea 9 @™ 4 H@LE.EL . A o [ o | 5

(%) IUYth U didd Ja-gehld 1Y ehl TZA hITIT |
(@) I9gh (F) T dg9H fhU U Ja-gehid i hi AKAT o =0T ohl
JHSATST |

Each employee of ‘Bhoomika Ltd.” should manufacture 10 tables per day
as per the terms of employment. All the employees met the said target
except a few who manufactured between 4 — 6 tables per day. The
management look a decision to install Closed Circuit Television (CCTV’s)
in the factory for monitoring the activities of the employees.

(a) Identify the managerial function discussed above.

(b)  Explain the steps in the process of the function identified 1n (a)

@
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22. SAEHIRh UG <hi foheal UTe TIRISdTST oAl 3gQ <hifoly | 5
HAJT
g <hl Tohral qra TaRINATsTl 1 3IZW <hifwTT | 5
State any five characteristics of business environment.
OR

State any five characteristics of Co-ordination.

Qus g
SECTION E

23. I qYT ¢ol, THI 4 J99 [E T A IMGH a1 8 I T99ehl o [oTQ
AT S i T YR 99 T g | IR I AT 971 Tob S 1 dFATHS
a9 3 °, 3H A hT Tk A qliehl’ gdl AT 99T BT | 39, 3ITh
U 991 Tid EIFF-Td HAcHsh BRAART o hIO JA(Yeh ¢ TohIAT STTdl
2 | 384 hal foh, Tk Ui qu1 I YaY qAT HEANN UG FIUAdICH
HIIEA oh HEF TTSCR] O 2153 UNUMH Ut 8F1 | BT 4 HSATT Toh Ueh Y4
Sl FIT H1F HH MU qAT 59 B i i o U fohd HGAl ol ITaA bl
El

SYH AUH h YR W I a1 B b INEH H T YR I HA=a¥g

hITTT : 6
(%) uided
(@) AT I Tkl
(M) kg (BrRE)
(&) SR
(&) SIS
() TEAT &I TR
66/1/3° 1 1.0
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Fayol and Taylor both have contributed immensely to the knowledge of
management, which has become a basis for further practice by managers.
Taylor thought that by scientifically analysing work it would be possible
to find ‘one best way to do it. He 1s most remembered for his time and
motion studies and functional foremanship. He said that the best result
would come from the partnership between a trained and qualified
management and a cooperative and 1nnovative workiorce. Fayol
explained what amounts to a manager’s work and what principles should

be followed 1n doing this work.

In the light of the above discussion, differentiate between the

contribution of Taylor and Fayol on the following basis :
(a)  Perspective

(b)  Unity of command

(c) Focus

(d)  Expression

(e)  Applicability

(f) Basis of formation

24, HIE, IWhI (IS H IUEAGF & TY H HE KL @ 2 | 98 Teh YUh Al
fafirse SR Al 7, e gHa ga94i @ Gie 98e 8 | 39l 1 A6 i
4 ehe | ST 33T & Hifsh FLEHT q91 98 HUF o q9=Td, 39 9al W R i
% fou =afRal Sl Tawahal BIdl & | 38 HR ! Y99 o Teh ST HE
€Y U @I AT 8 | o I8 3194 oAl hl Hdad hidl &, IFehl YiHbT ATl
Hiferd g1 St @ | 6

() AR TAMHCS o I o €4 U Higd gRI HeATCd b1 bl Jga™
hIfSTT qAT 39T 37U THEST |

(@) e g fenfed w1 & e # 9gd @ @Y B § | T TRl Ui

ATH o1 3gE <hifIu |
&collegedunia;
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Mohan is working as a vice-president in Ashoka Ltd. He performs a
separate and specialised function having many aspects of human
relations. His job 1s closely linked with organising since after the
structure and positions have been decided, people are required to work in
these positions. His function 1s seen as a generic function of management.

When he performs his duties, his role 1s slightly limited.

(a) Identify and explain the meaning of the function being performed
by Mohan as the vice-president of Ashoka Ltd.

(b)  The function performed by Mohan benefits the organisation in
many ways. State any five such benefits.

25. THIISH % HE o feheal WX To=g3l <l GHEATSY | 6
GPE]

‘IR Ug 3T e H fohral ©: MU 9T 3=dHe hifou | 6
Explain any four points of importance of planning.

OR

Differentiate between ‘“formal’ and ‘“informal’ organisation on any six
basis.

Bl ki e R T BRI =ik e w THIEE =Rl A=ibis R =T R
2 Z
2 =
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bl bsird Tp R TR Bl bS5 E e Al i R =T R
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